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QUESTION 1

You want to configure Oracle SOA Suite for Maximum Availability Architecture (MAA). Which two activities must be
completed? 

A. Add managed servers to the domain configuration to support the Oracle SOA Suite cluster. 

B. Run the Configuration Wizard on each server that will host Oracle SOA Suite managed servers. 

C. Rework the Oracle SOA Suite domain configuration to use appropriate GridLink or multiple data sources. 

D. Manually retarget the Oracle SOA Suite deployments to the newly created cluster. 

Correct Answer: C 

 

QUESTION 2

To avoid the purchase of new server capacity, a company must limit the volume of messages routed to a
computationally expensive RESTful service operation. 

Which Oracle SOA Suite component can help the company meet this requirement? 

A. BPEL process 

B. Mediator 

C. Proxy Service 

D. Business Service 

Correct Answer: D 

 

QUESTION 3

When you create an assert in a test case, you can specify a Compare By rule of xml-identicalor xmlsimilar. The rule
designates the strictness of the comparison. 

If you choose xml-similar,identify two conditions that will cause the comparison to fall. 

A. The namespaces are the same, but the namespace prefix is different. 

B. An element has the same child attributes, but they are in a different order. 

C. An element has a different name, but the same child attributes are in the same order. 

D. The namespaces are different, but the namespace prefix is the same. 

Correct Answer: D 
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QUESTION 4

Which two statements are correct about cluster support for Oracle SOA Suite 12c applications? 

A. A cluster appears to clients as multiple WebLogic Server instances. 

B. The server instances in a cluster must all run on the same machine. 

C. You can scale a cluster by adding machines to the cluster to host additional server instances. 

D. Server instances in a cluster can run different versions of WebLogic Server. 

E. You can create a cluster by using WLST, the WebLogic Server Administration Console, or Enterprise Manager
Fusion Middleware Control. 

F. For management purposes, you can split a cluster across multiple domain. 

Correct Answer: DE 

 

QUESTION 5

After you install the OEP product, which action is required to install andconfigure an OEP domain? 

A. Configure the OEP port through the OEP console. 

B. Configure the JDBC settings in the config.xml file. 

C. Create an OEP domain with the Configuration Wizard. 

D. Start the OEP server and enter the administrator credentials when prompted. 

Correct Answer: C 
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